DIAGNOSTIC TEST

PLANT REPRODUCTION

Multiple Choice Questions

1.  An example of asexual reproduction in plants is:

A. growing plants from cuttings

B. formation of flower and fruit

C. grass growing from seed

2. The non-sexual parts of a flower are the:

A. petals and sepals

B. stamen and pistil

C. anther and ovary

3. The reproductive mechanism of ferns and mosses is:

A. seeds

B. sori

C. spores

4. All tracheophytes except ferns reproduce by:

A. sori

B. seeds

C. spores

5. Another name for plants with ‘naked seeds’ is: 

A. gymnosperm

B. angiosperm

C. ginkgo

6. Plants with their seeds enclosed in a fruit are: 

A. angiosperms

B. flowering plants

C. both of the above

7. The parts of the female pistil are: 

A. anther and filament

B. ovary, style and stigma

C. ovary and anther

8. The process of transferring pollen from one flower to another is:

A. fertilisation

B. pollination

C. nectar production

9. Flowers with only male reproductive organs are:

A. hermaphrodite flowers

B. pistillate flowers

C. staminate flowers

10. Monocotyledons have petals in multiples of:

A. three

B. four

C. two

True-False Questions

11. All conifers have spores in cones.

12. The fruit must be produced before the flower.

13. Examples of flowering plants are grasses, rose bushes and eucalypts.

14. Only insects can pollinate flowers.

15. A spore is the same as a seed.

Short Answer Questions

16. What is the difference between pollination and fertilisation?

17. What agents of pollination are there?

18. Why must a flower form before a fruit?

19. Do all flowers contain both male and female parts? Explain.

20. What is needed for germination of a seed to occur?
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ANSWERS

1.A  2.A  3.C  4.B  5.A  6.C  7.B  8.B  9.C  10.A  

11.F  12.F  13.T  14.F  15.F

16. Pollination is the transfer of the male pollen grain from the anther of a flower to the stigma of the same or a different flower. Fertilisation is the process when the male pollen joins with the female ovum inside the ovary at the base of the flower.

17. Animals (e.g. bees), wind, water, gravity

18. A flower contains both the male pollen and the female egg. These fuse to form a zygote. After the zygote forms, it grows into a seed. The ovule of the ovary containing the zygote enlarges to protect the seed. It becomes the fruit. Examples of fruit include tomato, pumpkin and orange.

19. No. Some flowers contain only male parts, some have only female parts and some have both.

20. water

